Subject: Re: disk arc
Posted by wlandsman on Wed, 30 Mar 2016 22:47:57 GMT

View Forum Message <> Reply to Message

On Wednesday, March 30, 2016 at 4:45:13 PM UTC-4, wlandsman wrote:
> If you have a set of X, Y positions and a center position xc,yc then you can find the angle from
the center

>

> ang = atan( X-Xc, y-yc)

>

> You can then assign the angles into sectors of size !pi/4
>

| had X and Y reversed
ang = atan( y-yc, X-Xc)

http://www.harrisgeospatial.com/docs/ATAN.htm|

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=3563
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=37465&goto=92941#msg_92941
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=92941
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

